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oldioll T : 9t (Set 19)
: . : —
Question No. (1-5) based on the following passage: :
The casual horrors and real disasters are thrown at newspaper reader without discrimination. In the
contemporary arrangements for circulating the news, an important element, evaluation is always weak
and often wanting entirely. There is no point anywhere anno the line somewhere someone put his foot
down for certain and says, "This is important and that does not amount to row of beans; deserves no ones
attention, and should travel the wires no farther". The junk is dressed up to look as meaningful as the real
news. - N
| Evaluatxon of news would imply

A. less dependence on modern systems of communication

" B. _ more careful analysis of each news story and its value

C. separating beans ffom junk

D. discriminating horrors from disasters _
2.  The writer of the above passage ; -

A. seems to be happy with the contemporary arrangements for circulating news

B. is shocked by the casual stories about horrors and disasters reported,«mhe anapers

C.  wants better evaluation of news before publication

D. wants to put his foof down on news stories
3. In the above passage, the phrase ""amounts to a row of beans’/ means that the news

A. is weak and often wanting entirely

B. deserves no one's attention

C.  should travel the wires

D. is junk dressed up as real news
. Newspapers lack a sense of discrimination because

A.  they do not separate the real news from mere sensationalism

B. ~ they have to accept whatever is received o2 the wires

C. limited manpower makes serious evolution impossible

D’ peop)e don't see the difference between junk”and 'real’ news

. The passage implies that

A.  there has to be censorship on newspapers

B. there is no point in havmg censorship

" C. newspapers always dress up junkio look meaningful
D. one has o be strict in selecting news items

el vt SR frem iR - _

I femreh gememn fafem &m a3 fermdiens ot wfiss)

11. Temmern! Bem srarfeera femdt 3 v frrdt 1)
mﬁmmaﬁmwmama.

IV. mmmaﬁmmmm|




10.

.U"O.W?"%

288

A. LIS, 0L IV 7o B. LIV E&E, I, II ema

C. LIIES, I IV e D. LILIIES, IVied .
T feswent Sirereew forem T wét forspea Bigdrg :
. a. - ’ e WP?AI.
b. adifem : — S
c. %A : — AR
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TR EHT T N TS 2

I = : — wofmfi
1L e aeE ama - aeaamﬁam
TR A - am%@”‘r%rqwﬁrﬁw
7. PR B. 1I C. I, D. LII

A,BuiE =i 8 B, cwgégunﬁa’rmuﬁlx Btcﬁmzﬁu\saﬁaﬂ%Baﬁ
aﬁﬁwﬁl@a-.

A is two years older than B who is thce as old as C. If the total of the ages ofA B and C be
27, the how old is B?. ,

A7 B. 8 cC. 9 D. 10

TR R T T T R % R G0 e S g shi et v 2

A clock is started at noon. By 10 minute; past 5, the hour hand has turned through:

A, 145° , B, 15Q° L BETIS D. 160°
Find the odd maa out.. .
1,4,9, 16,23, 25,36 . i

A9 - e B D23 C...025 s D. 36

I R0 T wTETE e T S T X T O R 36 S ?
The average of 20 numbers is zero. Of them, at thé most, how many may be greater than
zero?

A0 B. 1 C. Y410 D 19.

fasr X W IERTH MW@%WWW@W%? :
Find out from amongst the four alternatives as-to how the pattern would appear when the
transparent sheet is folded at the dotted line.

-.J-- pesese @ geecemdpessss . pe————nee e
: % A

) (ay @ @) g
A 1 B. 2 ' C.:. 3 D. 4
mmﬁxmv@mmm@mvﬁaﬁ%mmﬁmmmmu
frdmm g s s aReda ﬂéﬂﬁﬁmﬁaﬁﬁaﬁﬁt'&?«n ?

The average weight of 8 person's increases by 2.5 kg when a new person comes in place of

tessmommpen

_ one of them weighing 65 kg. What might be the weight of the new person?:

A. 76kg B. 76.5kg C. 85kg- D. 80kg
T rragsR SR S 0 /1 ?
A S s i B, T feeere 393 T ARTER
C. T Heh! STHwEd D. wiymEs
TR ST TP FI TP §a1 AUTeTRT WA S R 2
A. TG THIE STl %3 ~'B. THYER =

C. o= 3. fadg : D. frfemyar e
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a.  FRIWR 1. wRawE .

b. TFEIRR - 2. fefoa fawgs

e mwWRR 3. ARMHUTEE @R

d  JEIRR 4. whTd

#}Ea b ¢ 4

A '3 .4

S ) IR 1

AT s 2 1t ;

D A3 0l 2

iret FreregRg T hieae vd SR S TR,

WEI ' TEI
FIRY 3rgE 1. ofrede g
TERE! qe 3. EREWR .
AR SER 4., TEIER

SRS IR N N
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W W e
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A. ?oxcm?x B. R ME@3IY  C. 0K AW D, 050 NS Y

From the given alternatxves, choose the one wluch best expresses the given sentence in
Indirect speech.

She said to him, "Why don't you go today?" ; | ;
A. - She asked him why he did not go that day. B. She said to him why he don't go that day.
C.- She asked him not to go that day. D. She asked him why he did not go today.

Pick out the best one which can complete mcomplete stem correctly and meanmgfully'
Dinesh is as stupid as he is lazy means ......

A.  Dinesh is stupid because he is lazy B. Dinesh is lazy because he is stupid

. C. Dinesh is either stupid or lazy D." Dinesh is equally stupid and lazy .

In question below a sentence bioker into five parts. Join these parts to make a meanmgful
sentence. The correct order of parts is the answer. .

1. killed . 20 , 3. Jaswant 4. bear 5, Wild

‘A, 31254 B. 53124 ; C. . 23145 D. 43125
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BISEESIECHEEN

TEl wEI

a.  Point Four Programme ' 1. WTO =
b. TERTGEH 2. IBRD :
c. TIRRE AT 5 3. fafiwe i

d. TRy fedmat 39 4. ADB-

FE a b < d

A | 43 2

- B. 1 3 4 2

C. 3 k- 4 2

D. 3 e =y 4

TEl - Sl (B 4 B o :
a. Hot Money : © 1. S S el ST Glotsh! Wl
b.  Soft Money 2. Scfagd a9 gHT fHafaeTe FATEh fasi ga
c.  White Dollar 3. Y SHSEE 9T g1 =0

d. Nortro Account 4 & SIS HHRSA 3T

FE a b ¢ d

K- oF & S8 !

R W R M

IR e S DR

Diocgs: 302 5

frfafas yiRer 3w T E TERY

1. Hrem g afs ek R AR TEe | ;
2. AURET IR HelSehioreh! ST g1a Jdre memﬁﬁ gﬁm@'&ém~

sl
3. %mmmqaaamf%mmma W B9

A 2T3FEEE B. 112%m3d& . C. 1:314133%6 © D. 1,233%

I listened, but I had no idea what he was ...... about. .

A. . saying B. talking - C. telling D. discussing .
The car in which the minister was traveling ...... with an accident. ' ~

A. " hit B. drove . C. crashed » D. met

The non cooperative attitude of the members can only ...... the image of the society.

A. spoil 3 B. improve ° .C. -degrade D. defame
Sonika is quite intelligent but rather ...... :

A. idealistic - B. generous C:% Jazy = D. optimistic
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il (3 EI
a. mm@wﬁmm 1. %o T Ere
b. AR SafaTa JESE 2. RAMER .
c. TR Safagd AESET. - 3. 9¥ ATER
* d. a1 Gl STEfad s 4., RIMER
#sa b ¢ d
G Aol i e !
B. L2 4
C 2t Bk
D. 1 ‘32 '3
44. REA HiEoE! S T TEEE Y R 2
A. fad. 099 F0 B. fad. 209 wrFy
c. fad.j0qeSB0 D. fad.309% @R
45. TR A/E ? NN ,
A, SER GaTREH! faehem Sie B. SHEgHIRamT HifE faswm

c. e demauRafasmyfEn 0 D, wfyw s
46. U@ Wi fafsa Reg s T s 2
A. SBR0 - B.  FERIR
C. 3ERR0 St D. JFER30
47. T FIER TR THO ,
1. 3 a8 &S0 AT WS Dobson Umt'@ll
2. SIS e et T Faas! T oS |
3. 3o R e qiE! SR & Nimbus-7 81
IR G T T W ? . < re
A 129 EE B. 2I3WEEH  C. 1,2I3¥ATH D. 1I3UEEE
T fagew T o 99 e w9 X, Y, zéﬁsmaﬁmmnﬁm(ma)ﬂrm
R F:
The bar graph given helow shows the data of the productlon of paper (in lakh tonnes) by three

different companies X, Y and Z over the years.
‘Production of Paper (in lakh tonnes) by Three Companies XY and Z over the Years.

FEE FRE X,Y,Z 9@ § 1

Quantity in Lakh Tons

1996 1997 1998 1999 2000

« Years mX BY &Z
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mYﬁm@vmm&mm IR AR gfs 71 finEe s 2

. For which of the following years, the: percentage rise/fall in productlon from the previous
" year is the maximum for Company Y? .

A. 1997 ' B. 1998 C.. 1999 . . ~ D. 2000
9RR5G-3000 HY FERTH FIH X THFEH Y e e FFI B S 2

What is the ratio of the average production of Company X in the. perlod 1998 2000 to the .
average production of Company Y in the same period? -

A 1 e B: 1517 2 2l T €0 2808 D - 27229

A FEAH U T e S tﬁ\mm’w ? '

The average production for five years was maximum for which company?

A. X B.: Y ARG E _ D. X and Z both
T HEHT Z Y SR SR FIA Y ) SR TR e ® 2

In which year was the percentage of productlon of Company Z to the production of
Company Y the maximum?

A, 1996 B. 1997 C. - 1998 D. 1999
93%% T 93%% T FIHE Y B IR Hh whwee afg s 2
What is the percentage increase in the production of Company Y from 1996 to 19992

CA. 30% : B." 45% C. 50% D. 60%

T T O WA G ST § T SR ae

~ Which one will replace the question mark ?

R

: . D. 40
Wf‘ﬂw@mmm;@wwml
Which one will replace the question mark ?
2T 31 39 - 48 16 83
>/ S
s
K\ & Al
A 2263 B P2t C. 62 D. 99
wlmnﬁﬁmﬁa@@q RIS - ’
R _ Rl : -
a. FAEI HH 1. & efheas
b. HAR] gl T 2. Fftgs
c. TEYR =W 3. fofa
d. WWW 4. T §
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: | e 2094

}E a2 b c d
A 2 1 3 4
B. 1 -2 4 =3
€ 1 2 3 4
D. 4 3 2 1
a{snnﬁa@am@amfraEH@wﬂzn@a
- Wl Wl
a. ST TG 1. ot
b. =ET T A 2. HT
c. BRI S 5. - 3. @@r .
d. ﬁmmaﬁ ; 4. e
T R N c d
A. 4 3 .- 1
B. ¢ 3 4 1
& R 3 2
D. 4 1 3 2

T ST U TR e 1 VR T B/ B 2

A memmﬁ%wemmmﬁmﬁqamrahaﬁmwﬁaﬁ

T

B. Wmmmtmmmmnmﬁmﬁm
O, e S’aﬂ'ﬁﬁ

D. wfoes ¥ e

Torer T Tt TSI T TR SR G S e S ?

A ,Mchemy%mq@ﬁmmﬁmmﬂw"

B. Apiculture — g% TFH. 7L TH o :

C. Bionomy — St fraweeeh e T fagm

D. Ceramics — Fafan m@r! e faiur 7= wen
mzmwmﬁa@m

I TR
a2 S&A ’ 1. 1. 9ed ger
b, I T TR Sieny = 2. et
. TIGUHI @Y 3. @§ IR
4

d. o=t wedm 4. TEATS SR
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A. 2 B 3 4

B. ¥ 2 4 3

&3 1 2 3 ;47

D. 2 1 4 3
Be the embediment or perfect example of....................
A.  Chaspilise B:“:Idol - | C.  Personify D.  Signify
A person whe studies the formation of the earth: ‘ ‘
A.  seismologist B. anthropologist C. geologist D. meteorologist
‘The science concerned with the sound of human speech...... :
A. analogy - B.  linguistics C. philology . D. phonetics
T TerRaraere) 7 i Qg ;

1. DNAaﬁnﬁrqmm,mg%sﬂaemwl
2. RNAmséwmm,mmrmmﬁ:

A 12533 B. 1WEd® C. 2WEdw D. @¥=
TP NG A S ? :
A.  World Red Cross Day — 7% My B. International Peace Day — 17% Sept

C.  World Anti-Smoking Day =5 31 May  D. Unifed Nations Day — 24™ August
T A A T B 2

A. T B3 Crm g frafm g B. Tifi A, D, E, K 9/8m ge firafi g

C. Tuaf B &+ wrmm g1 D. fifim C 9 whid =i dmars |
mﬁmﬁmwwmﬂﬁmmmml

A 124;356:789 ' B. 17.8:356:249
C. 134;289:567 D. 1,7.8;23,6;459

e o e s g e g v e ege )

- Select a suitable figure from the Answer Figures that would replace the question mark (‘7).'

Problem Figures: Answer Figures:
® ] g [ B =Y U
4 ? i - -+ | e o~ TS
»o¥u jloxd ° % e Pe e fa |
A (B) (© D P 5 (2) B3 @ (5)

A 9 B. 2 C. 3 D. 4
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Statement: Should all the drugs patented and manufactured in Western countries be first tried out
on samrie basis before giving licence for sale to general public in Nepal?

Arguments:

Yes. Many such drugs require different doses and duration for Nepali population and hence 1t is
necessary.

1.No. This is just not feasible and hence cannot be implemented.
A. Only argument I is strong B. Only argument II is strong
C. Either I or Il is strong D. Neither I nor I is strong

T R BISTee! S e SR |

Find the number of triangles in the given figure.

21 B. 23 25 | D. 27
ﬁﬁxm ﬁmmwmﬁam

Select the figure which satisfies the same conditions of placement of the dots asin Flgure-X.

& FAEE,

(x) (1 &) €3]
a1 : 32 D B
mmmmmmwmmmm

Select a suitable figure from the four alterhaﬁVes that would complete the figure matrix.
DN\Z7 2]
WRF| ?
HI®H
2 2\
(1) (2) (3) ()

A 1 : B2 - €. 3 ‘ D. 4
Wm@mmmmgﬁmwmﬁmv

A fEdR quﬁqﬁrcamﬁwﬁmﬁqﬁrDammmwﬁaﬁa

i g T g R /a2
A. gEEE L IRE( fea HeEm B. HABRAUI
Cc. Ayl genfas ' D. wfus Ea
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AT WRETH! (R THer :

1.

AUTETRY ST afgel AT IR manfaa Teigd St iy fag |

2. 9TE! HTERA Peace Corpse Volunteers 3R Twafd B | .
3. AT T 9 Aurel Tegd BiTwy e § !
. YoTeT HEE SrAfE weEn fEn USAID 911
- T A W W B /e
A 1,2339F B. 2,3749H C.-%1,2,3X4°6% -FD. “23%4 9
mmmmmwmzmmmm@ma ?
A. 3T A —  STERyT
B. HRIRFYR HI - YRa
C. TEAGE B NE
D. JRa® faeam — U
TR 1 T 11 o= S fremsge| _
ESUcT] X g
Yk TeeaE favafaemes 1. S
fava =R dmed _ 2. afgeen fed.
ST g1 e ; S 3. W
GIH T G AT FRH 4. AfEA
€ a2 b ¢ d
Aol 3 2
Bt # 1 2 3
2 ik A 2 .3
D. =4, 4 3 3 _
In the following questions choose the word which is the exact OPPOSITE of the given words.
QUIESCENT ;
A. ACTIVE B. Dormant C. Weak _ D. Unconcerned

In questions given below out of four alternatives, choose the one which can be sabstituted for
the given sentence.

State in which the few govern the many.....; ..........................

A. Monarchy B. Oligarchy C. Plutocracy D. Autocracy

A. o WO A, 4240 T 4R T Gegeve fezw o

B. ¥ IR Wl WEdEn gogevs feguet fan

C. TS, FTEIW T AOMEEH! Far=an e el e waam g fate T sed TRas

0

forr 1
2008 M © qfs T8 Wmmmﬁwwfmx

mmﬁmav
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A, 9R¥% S R0 B. 9R¥% SH&Edl 90

C.  9R¥R SHad R0 D. 9R¥% SH&dl 30
wﬁs@%ﬂmwﬁﬁﬁwm@m

196, 169, 144, 121, 100, 80, 64 ,
A 169 B. 144 c. 121 : D. 80

T TEEH S T WRE TE A, B, C, D, Eandmealmaiaaﬁmm
mmmmaﬁAﬁmﬁwv '

The six faces of a dice have been marked with zalphabets A, B, C, D, E and F respectively.
This dice is rolled down three times. The three positions are shown as:

(n) (m)
Fmd the alphabet opposxte A A :
A C B. D ‘ C.- E D. F
TRt AofE A % T SRR :
190, 166, 145, 128, 112, 100, 91 :
A. 100 B. 166 C. 145 TS DATR

Q,BIC A H1HM FAT: 0, ¥ I0 KA H TR A ATHF I RS WM EFMBICH
T i R e 2 ‘

A. 12 days ~ B. 15 days C. 16 days D. 18days
wﬂwmmﬁwmvmmmwmmmmmm
T W g TS 2

A. 0®R . B. 4 W C. VTR = D UTK

e freTw wét forrea SFge) :

TR F R

M frer 1. goHEA

M 9w R TS FEHW

3 T 3. SRR .

¥ woi ¥. 95! A Uiy
# & 3 % -

. TIPS AL N

B. ¥ R 3§ ¥

€ A N4 0.8

D. ¥ R % 3
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“HTA] T TG 17 3 AT B W T ey S w2

A, TR ‘B. T=EM -C. TEiRE D. SeHar st

SR, ¥ Y TR T W g T R O e Pl 2
A R0SLIWRIE B, RVOXFWIS  C. WSLIWRIG D 08% IWRR
R0SY, STHR Y T HARTH! g a9 favme! 70 foray »

A, T TEME UM Seqee g B. oM ScEaw gfs : T gufy

C. YIFHHRIH! 3T T WRIGTaT . D. Y] IcUTE YR : WY GRETHI IR
R08Y WIS 9 IRg TP TRTH AogEEH A AREE TRATTE T frefor et &1 @

- QIiehep! TR TRATHS W= ..o wireaa afe A

A.  93¥Y0, X0 B. 9¥¥%0,3R C. 93w4o, R D. 9¥%¥0, %o
H 71 77 foam formm Rrvafernersd faem o= el e v fole R s 2

A T (AESIAR) B, A (femee) C. gweER(sE) . D, ?r@m(m@ﬁr)

In the following questions choose the word which is the exact similar of the given words.
VENT

A. Opening B. Stodge C. End D.  Past tense of go
A person not sure of the existence of god is called............. '

A.  Cynic B. Agnostic C. Atheist D. Theist

A paper written by hand is called.................

A. Handicraft - B. Manuscript C. Handiwork D. Thesis

mmmmmmmmn

A, R00Y I3 9-3 B. 00Y 93 ¥-% C. R08Y B Y-9 D. R00Y B &5
qﬁ#mﬁaﬁ?ﬂcm%*ﬂaﬁﬁm:ﬁmﬂaﬁmﬁ@mnﬁ@mﬁm
Ei?

A fafsafee B, s C. wRfR g D.vmﬂﬁﬁ

~ R0%9 @tm*mﬁammmm ?

A W B. AR C. Tamafiw - D. ERMR g
ma&u&émaﬁaﬁumaﬁaﬁmﬁﬂ?

The least perfect square, which is divisible by each of 21, 36 and 66 is:

A. 213444 B. 214344 C. 214434 D. 231444
A,B,C,D & fframsliais:2:4:3. #mﬁﬂmnﬁca D %9000 Tt afs qr

9 B & *fa v¥at gwen 2

A sum of money is to be dlsmbuted among A, B, C, D in the proportlon of 5:2:4: 3 IfC
gets Rs. 1000 more than D, what is B's share?

“A. Rs.500 *B. Rs. 1500 C. Rs.2000 D.  None of these

WA o e S g e S v e ey -

Select a suitable figure from the Answer Figures that would replace the questlon mark (?).

Problem Figures: . Answer Figures:
o4 2] |[TAIPIER
A (B © D) 1) ) 3 @ &)

A 1 B. 2 G . 8" . D. 4
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Q.No: - |Answer | Explanation

Key '
1| |2c [3B [4a [5¢ [6B [7c [8c Joc T |nc
12 D. LetC's avebexyears Then,Bsaoe—Zx years. A's age = (2x + 2) years.
L (2x+2)+2x+x=27
:>5x—25 '
—x=5.

Hence, B's age = 2x = 10 years.

13 e ] Angle traced by hour hand in 5 hrs 10 min. i.e.,
Angle traced by hour hand in 12 hrs = 360°.

3] S_(GO 3l>hr_155°

14 B. Each of the numbers except 23, is perfect square.

15 D. Average of 20 numbers = 0.

. Sum of 20 numbers (0 x 20) =0.

It is quite possible that 19 of these numbers may be positive and if their sum
is a then 20th number is (-a).. '

16 C. - |Noanswer description available for this question. Let us discuss.

17 C. Total weight increased = (8 x 2.5) kg = 20 kg.
Weight of new person = (65 + 20) kg = 85 kg.

8 |D 19A [20A |2LA |22B [23A [24D[25A [26C [27C [28.D
29. B 30.D
31 - |B. In each row, the second-figure is obtained from the first figure by adding two

mutually perpendicular line segments at the centre and the third figure is obtained
from the first figure by adding four circles outside the main figure.

32 A. In each row, the third figure comprises of a black circle and only those line
segments which are not common to the first and the second figures.

33 C. 1, 6, 8 are figures composed of straight as well as curved lines.
3,7, 9 are closed figures shaded by oblique line segments.
2.4, 5 are figures composed of straight lines only.

34 A 358]36C |37D [38B |39B |40.D ]41A]47c [43A [44B |45D
46. C 47C
48 - |A. Percentage change (rise/fall) in the productlon of Company Y in comparison to the
) previous year, for different years are:
For 1997 —QS—‘Z—S—) x 100% = 40%

25




26.

27.

28.

29.

30.

31.

' B. HeyM TREeE) A
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I 1 g 11 e < P < e i s e R

TRl ' - Rl

a. rErE e - 1. TR

b. T fomrRee 2. foaem

c. UgEer fammRw 3. drge

d. wom fommree 4. @ ;

T Ca b d

A. 1 2.3 4

B. < 3 2 % |

(o 4 5 S | 3 .

D. 4 ‘2. '3 1
_ mmmmmwmmm.; ............ o W <helt Ao s
TIFD! T covvvoernrersnananns RITHCRCE TR ) '
- A 03%,5.¥0 B. 0%3,5.0¥ C. 0%3,5.¥0 D. 03%, 5.0¥

TR QR S, 2032 & Ru GFE g/ 89 2
A, TREA GUR WiAfoers el s sraefi

C. TWF FOSs IR

D. wiET s |

mmmmmﬁzﬁma?

A, Ty MY B Hsmmﬁaam

C ”Tfmammanmw D) aﬁammaﬁaﬁswmfw

T et ien T e welreren S 2R SR T @ 2

Choose the alternative which is closely resembles the mirror image of the g;ven combination.
1965 | NDOPAK
(1) #A90au 1296t (2) ‘MXMGO?QB&
(3) Aq0aun 1 2est (#) MAS0Qniaser

<A1 B 7 AnriE =3 D. 4

mﬁmﬁm 39T formea oFtt A T TR

Select a smtable figure from the four alternatives that would complete the figure matrix.
+ K8
OB
| 7
ek i

(1) 2 (%) @

PR e SR C. 3 i D. 4
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3. o eI ST faede SR R e T TR

Select a suitable figure from the four alternatives that would complete the figure matrix.

g e
$| 9| &

¢ | o |9

i&--&' -o-|-o-

W @ 6 @ _
S A B, %2 C. 3 ' D. 4
33. . ! faeee T Te T WA I S e e TR

: Group the given figures into three classes using each figure only oence:

T

3 2 3
il .
| > )
Lo ¥4 8 g
A 13,6:458;279 B. 23,9;458;167
C. 1,68;3,79;245 D. 3,89:;127;45.6

34, et d W, Rov%mmmwmwmmﬁﬁamw

a. Hfgen 1. 27%
b, IfEaTE St 2. 9%
c. gfea 3::,33%
4. aTarE 4. 3%
wS a b RN

A. 3 1 2 4
e R 3 I 4 2

c 3 o AR 1

'D. 1 3 4 2

3s. ,ﬁmtmﬁa*&éﬂamm@‘&?
A, Re{, 095 B. R0FEE 096 C. 94,095 D (T, 095



303

For 1998 = =

5
35353 x 100% = 0%

For 1999 = 403"53 3 100% = 14.29%

(50 —40)
40

Hence, the maximum percentage rise/fall in the productlon of Company 'Y is for
1997.

For 2000 = x 100% = 25%

49 Average production of Company X in the period 1998-2000
1 115 :
=3x (25+50+40)= = lakh tons
Average production of Company Y in the period 1998-2000
125 ;
= % X (35+40+50) = IT lakh tons
115
232115 1 23
.. Required ratio = 125 125= 25
=8
50 Average productlon (in lakh tons) in five years for the three companies are:
19 :
For Company X = 5 x (30+45+25+50+40) = e =38
. 5
AT A 185 J
For Company Y = 5 % (25+35+35+40+50) =75 =37
1 190
For Company Z= = 3% (35+40+45+35+35) =—— =38
Average productlon of five years is maximum for both the Companies X and
Z.
51 The percentages of production of Company Z 1o the production of Company Y for|
various years are: )
For 1996 —:z—f‘x 10()% = 140%
l‘or]997- 35 x 100% = 114.29% -
45 -
For 1998 = 35 % 100% = 128.57%
For 1999 ——-x 100% = 87.5% :
Fer 2000 = 20 x 100% =70%
Clearly, this percentage is hlghe__st for 1996.
52 Percentage increase in the production of Compazny Y from 1996 to 1999

25

0 - 15
=798 X 100%-25x 100% = 60%
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53 (15x2-3)=27,
(31x2-6)=56
and (45x2-9)=281

54 21 +31=52
and 39 +46=85"-

_ Therefore, 16 + 83 =99. ‘ : '
55 s6D |57.C_|58B |59 [60D [61C [62D [63.A [64D |65C
66 1,7, 8 are all undivided geometrical figures. :

3, 5, 6 are geometrical figures divided into two parts.
2, 4,9 are geometrical figures divided into four parts.

. &

The symbols move in the sequence \ Also, the arrow rotates 135775, the
trapezium gets vertically inverted and the pin-shaped symbol rotates 90°CWY.

68 Clearly, health of the citizens is an issue of major concern for the Governmeiii. S0, a
product like drugs, must be first studied and tested in the Nepali context before
giving licence for its sale. So, only argument L holds strong.

69 The figure may be labelled as shown.

o ,
The simplest triangles are ABL, BCD, DEF, FGP, PGH, QHI, JQI, KRJ and LRK| -
i.e. 9 innumber. M SR i I s o ; : '
|The triangles composed of twa components. each are OSG, SGQ, SPL, SRI, KSQ,
| KMs, FGH, Tl and KL iie. Smnumber. T
There is only o aing_lg;i,é.f KSG which is composed of four components.
The triangles composed of five components each are NEI, ANI, MCG and KCO i.e.
4 in number. . :
The triangles composed of six components each are GMK and KOG ie. 2 in
number. -
There is only one triangle i.e. AEI composed of ten components.
There is only one triangle i.e. KCG composed of eleven components.
Therefore, Total number of triangles in the given ﬁgure =9 +9+1 +4 +2+41+ 1=
27. . '
70 In fig. (X), one of the dots lies in the region common to the circle,.the square and

the rectangle only, another dot lies in the region common to all the four elements -
the circle, the square, the triangle and the rectangle and the third dot lies in the
region common to the circle, the triangle and the rectangle only. In fig. (1), there is
no region common to the circle, the triangle and the rectangle only. In each of the
ﬁg‘uxes (3) and (4) there is no region common to all the four elements - the circle,
the square, the triangle and the rectangle. Only fig. (2) consists of all the three types

1| of regions.
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71

.| In each column, the second figure (middle figure) is obtained by removing the upper

part of the first figure (uppermost figure) and the third figure (lowermost figure) is
obtained by vertically inverting the upper part cf the first figure.

72

73D [74C [75C [76B [77.4 [78B [79.A [80D

81

82

Numbers must be (14)%, (13)%, (12)% (11)%, (10)% (9), (8)™.

So, 80 is wrong.

‘“;om figures (ii) and (iii), we conclude that the alphabets C, D, B and F appear

adjacent to the alphabet E. Therefore, the alphabet A appears opposite E.
Conversely, E appears opposite A.

83

Go on subtracting 24, 21, 18, 15, 12, 9 from the numbers to get the next number.
190 - 24 = 166 : , '

166 - 21 = 145

145 - 18 = 127 [Here, 12R i5 placed instead of 127]
127- 15=112 . . :
112-12=100 ... and 50 0.

T =refore, 128 is wrong.

84

85

96.

g6.C|87.c [88.C i9B [90.C [91.A [92.A r9$.B ]94;}3- [95.1#
97. A ' :

98

BB

L.C.M. of 21, 36, 66 = 2772.

Now, 2772=2x2x3x3x7x11

To make it a perfect square, it must be multiplied by 7 x 11.
So, required number = 2 x 32x 72x 117 =213444

99-

Let the shares of A, B, C and D be Rs. 5x, Rs. 2x, Rs. 4x and Rs. 3x respectively.’
Then, 4x - 3x = 1000 '
= x = 1000. ;

B's share = Rs. 2x = Rs. (2 x 1000) = Rs. 2000.

100

The upper part of the figure gets vertically inverted.
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S T84, 93¥0 71 wreita faforen oo faemt ma v fordh | arem ern Svet et [ fare =/ T
<&l 3 worefa s ferd | Aot vt vadE aon o faamfierd fafren st T aifesrt sfEwty qoO
RIS 9 e | - : : : '

Summit for the Flyways ' ; e

UAE STHTEl ¥R § 3095 %t i e ol SaeE 79 Ses (Migratory birds) YT swifies
e | T ferwem 99, 939 T SEE wse, Tt % F 3400 FTTereh! ST FERGTE 7 |
TR B W SUEEE TH SREEN Y0 TFAGH AT 5! B | T Tl Sradified Teen Bird
{Life International = BLI & ST STFHR I3 FSITehT SUGE SATYIHaIT STaeemT e o |

0 SR ER IR
o o o ofefse
O TS : T 9354 9334 (¥o 99)
0 fodee T Te o, sfafiver 2 e T, [t g guEEst fg
0 E 9% T g e fagie Teend e seTes) T RET OR e S Yo S wes (

HISHTE) A HA A2 3 o Fem e fordhn) \

TS T Feeeell Tomeesht geree fog | e Tt Taw 2t gore s wftfer weere waw
T e SR At Hfowenfd TR el Hew TeTewe! SRONSATH S @ 9if |

0 cifEes T waieash 59 a1 feulrme i sfred = teae Seas Traee R

- A

O R S, R, T e e SR e < e S T e 3 <
fifsr S wfed ¥2 2 T T iR W e arniies deem T 81 .
O #9¥ig #F (Unleashing Nepal) : YUl s7efaereh1 STIE SToRiges] Faatoneiss 3 : Gofa o

ST W7 S FR W1 ARGl W 33 Tavae aa g6 dig Rk 1 | 7 Afe afeas
| ST RS forve e e TEE B 1 D A SR 93 3 v el wifenre o frior
T T e I 1 SIS S AE T Ui SRIegen SEwe, SEAte T gs e e we
lmqﬁm@@%ﬁmmwmgzmﬁaaw’t@mmxaﬁaﬁwﬁﬁgg@a AT TRy T T T
[ RA B : :

3iwEl Icmason GMP [l

e, @@ a9 U5 uERiE ISR Good Manufacturing Practice = GMP 3fafy smifien ®am wnfia :

*maq?n'z?tnﬁmﬁfﬁlzmr{nﬂmmmmwﬁnﬁmmﬁmnm.mm,

STHETHI ST g 975 SRR a1 q4 TAIh, TORGT Fea vard qon e gart s fawr aafeus

TS | THET TEEA Good Agricultural Practice, Good Laboratory Practice, Good Clinical Practice 12
Torom a¥a wesA |
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oTao UGl AT : 20 (Set 20)
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10.

11.
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Group the given figures into three classes using each figure only once.

Q9O

E. | 5
AT HY
8 9
A 789:243:156 - B. 132:;457:689
C. 1,68:;347;259 'D. 1,69;347:258
TErh! Sl e S N e ged |

Find out the wrbng term in the series ?

3,7, 15, 39, 63, 127, 255, 511

A 7 B. 15 C. 39 D. 63
mpa@mm:mmwmQammmsommma
mmmlma&mﬁmwﬁaﬁm WAGTA N aéazmimﬁmmaé
fraeee iR afFs 2

A machine P can print one lakh books in 8 hours, machine Q can print the sawe number of
books in 10 hours while machine R can print them in 12 heurs. All the machines are started
at 9 A.M. while machine P is closed at 11 A.M. and the remaining two machines complete
work. Approximately at what time will the work (to print one lakh books) be finished ?

A. 1130 AM. B. 12noon C. " 12:30 P.M. D. 1:00PM.
625 14 11). :
11 X25% 7196/ is equal to: ‘
A 5 B. 6 C. 8 : DA
T HERTeR! W] Aol G 6 T B : '

L &F%d — 99393000 FHEA
I awaﬁsm“r—»w Tfaoit @ vo° I AT T ?x”{ai%@wo"vﬁ%:mmm
0l o — fafauamnt Teeer

IV. STHTI — KY
A LI 'B. LIV C. v, I D. LILII
i e S QiR ST 5 6 S/ B 2

1 Tefa — FRA N wH I srerafes — 99 3hm
ML 9 fT — e 5w V. & fey — e S
A. LI AEE& B. I II III 5T &
C. LILIVHAS & D. LILIVHEI TS
2 forvagem Rt w8 w=n et 1 2 ’

A TEIERE B. T e C. WeEgta  D. wfwEEd
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12. TWRIFAND TS/ ?

L ST s — 93 S 959R
1L R O S T — 36 e 989% SRR
1. 3T TR T — 9698
Iv. Taarsd s=ed — 930

A LUWEE - B, ILIIL IV 9 GE
C. LILII IV 99 e D. I, IL, III |7 90

Question no 13- 17 are based on the following passage:

The world dismisses curiosity by calling it idle or mere 1d1e curiosity even though curious persons are
seldom idle.Parents do their best to extinguish curiosity in their children because it makes life difficuli to
be faced everyday with a string of unanswerable questions about what makes fire hot or why grass grows.
Children whove curiosity survives parental discipline are invited to join our university. With the
university, they go on asking their questions and trying to find the answers. In the eyes of a scholar, that is
what a university for. some of the questions which the scholars ask seem to the world to be scarcely worth
asking, let alone answering. they asked questions too minute and specialised for you and me to
understand without years of explanation. If the world inquires of one of them why he wants to know the

_answer to a particular question he may say especially if he is a scientist, that the answer will in some -
obscure way make possible a new machine or weapon or gadget. He talks that way bes.-1:3e he knows that -
the world understands and respects utility. :

But to 'you who are now part of the university, he will say that he wants to know the answer simply
because he does not know it, the way the mountain climber wants to climb a mountain, simply because it-
is there. Similarly a historian asked by an outsider why he studies history may come out with the
argument that he has learnt to respect to report on such occasions, something about knowledge of the past
making it possible to understand the present and mould the future. But if you really want to know why a
historian studies the past, the answer is much simpler, something happened and he would like to know
what. All this does not mean that the answers which'scholars to find to their enormous consequences but
these seldom form the reason for asking the question or pursuing the answers. It is true that scholars can

be put to work answering questions for sake of the consequences as thousands are working now, for = -

example, in search of a cure for cancer. But this is not the primary scholars. For the consequences are
usually subordinate to the satisfication of curiosity.

13.  Children whose curiosity survives parental dmcxplme means
A.  children retaining their curiosity in spite of being discouraged by their parents
B. chiidren pursuing their mental curiosity
C. ° children's curiosity subdued due to parerits interventicn
D. children being disciplined.by their parents
14.  According to their passage, the children riake life difficult for their parents

A. by their ceaseless curiosity ! B. by unccasing bombardment of questions
C. by asking irrelevant questions - D. by posing profound questions

i5.© The common people consider some of the questions that the scholars ask unimportant
A. asthey are too lazy and idle. - B. asthey are too modest

C. asit's beyond their comprehension D.  asitis considered a waste of time



16.

17.

18.

19.

20.

21.

22.

23.

24.

25.

26.

311

A historian really studies the past
A. to comprehend the present and to reconstruct the future
B. to explain the present and plan the future

"C.  to understand the presént and make fortune

D. to understand the present and mould the future

According to their passage, parents do their best to discourage curiosity in their children
A! because they have no time »

B. because they have no patience to answer them

.C. because they feel that their children ask stupid questions continuously .

D. ‘because they are unable to answer all the questions

g‘\’; ?Mmm .............. . ﬁmwﬁmﬁ ﬁrﬁr@l%ﬁammm
|

A 9]RY, 9’9Y B. " 9R¥Y, 9%¥Y C ‘RYK,'R\W D. 9%3%, 9% ¥
AITE FAT T e Al =aftE e 2

A, oug feR B. &F FR c. fram=A D. TuRdfEmy
fafesfamir TTawe YU WA TS THEH S TR Toeea Al RRe e :
A, TFRE, JYgaH], TUEmEReE, WEed B. JYEH, AR, TUHMRE, Wesed
C. HMRE, 3igaH, sad, TUHHEd D. HFRd, Ay, Wsed, YUEHMST
AT AR Wi, [0%9 B W YR AR qesiTe) ) wee e 2

A, TEEERITE B, Reded afuem C. fei@amn D. amRe T
Tafrstemfem vl it T aeeht g9 Sis! e S ?

A. IFHIA — O Afgsrt

B. TR - FEEE e

c. W - foud

D. Tieds — ey

"'mmmmmﬁammammaaammm@w ?

A. Tigan e B. Hfgen Y@ Cc. wgmmierfa=s  D. wf%rﬂwﬁza
F. 93,400 Tt ¥ AT FISER Q4,200 TS WA SR Hia arell ?

. A sum of Rs. 12,500 amounts to Rs. 15,500 in 4 years at the rate of s1mple interest. What is

the rate of interest?
A 3% B. 4% C.'"5% D. 6%

I FASH D THIH SIIC S: & G D | R B TR GO FHE: 0 190 b\ TR
& TRi T FFI B §S ?

The ratio of the number of boys and girls in a college is 7 : 8. If the percentage increase in the‘
number of boys and girls be 20% and 10% respectively, what will be the new ratio?

A. 8:9 B, 17:18 C. 21:22 D. Cannot be determined
Forh! Geer SreeR SIS A1 IR 9 ¥ I Jhw@ w2 -

If selling price is doubled, the profit triples. Find the profit percent.

A. 66% B. 100 C. 105% , D. 120
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30.

31.
32.

33.

312

1 3G \S0 FETH! HSAEE w1 § A1 R SIS T Hidt TR & 2
What percentage of numbers from 1 to 70 have 1 or 9.in the unit's digit?

A1 14 e 20 D. 21

mmwmmwaﬁ mmmmw ﬂﬁmmma}w
ws?

Introducing a boy, a girl said, "He is the son of the daughter of the father of my uncle." How

is the boy related to the girl?

A. - Brother B.. Nephew C. Uncle. - D. Son-in-law
T 1 TR 11 shel fired wreae Ot S< ool TR :
el i (91

a. T SfayF RS FEARITEIR. 1. 090 WG
b. ¥R TEfeE 9% IR TSHITaS TeHd! 2. 090 HIR ¥
c. T dfayrEIEh ofed 8w 3. 08I FEIY
d. z‘r@fm%mmﬁ'aha 4. -R0R FER9®
S a h gl

A 2 3 4 1

B. 4 3 3 1

C. 4 R | 2

D. 4 3 2 1

Torea & wEAn o Sifga gt aon fasia 3% (IBRD) Seeam aer wsahﬁanﬂziim

a.  IBRD %I T191 3¢ feiirar 9 ¥4 1 9Tl B |
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From the given alternatives, choose the one which best expresses the given sentence in Direct
speech.

He exclaimed with joy that India had won the Sahara Cu,»
He said, "India has won the Sahara Cup"

He said, "India won the Sahara Cup"

He said, "How! India will win the Sahara Cup"”

He said, "Hurrah! India has won the Sahara Cup”
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Pick out the best one which can complete incomplete stem correctly and meaningfully

Practically, very little work could be completed in the last week as it was ......
A. " full of working days . B. avery hectic week
C. full of holidays D. avery busy week

In question below a sentence broken into five parts. Join these parts to make a meaningful

sentence. The correct order of parts is the answer.

1. was 2. and 3. Suresh ‘4, kind . 5. loving
A. 31425 B. 54213 . C. 34251 D. 15243
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In the series 2, 6, 18, 54, ...... what will be the 8th term ?

A. 4370 B. 4374 C. 7443 b D T43%
TRETE 9 TR A R §S 2 AZ, GT, MN, 2, YB )

A H B SH 25 C:: 8K ‘D TS

FeaTEe o O WA R §9 ? '

Ornithologist : Bird :: Archealogist : ? - -
A. Islands ‘B. Mediators C. Archealogy D. Aquatic






